a y =-0.4913x2 + 7.3537x + 16.648
Mg total R2=0.1919
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c y =-0.0026x2 + 0.2124x + 4.7735
Catotal Rz =0.0214
20
°
o~ 16 -
5 °
o 121 °
3 _
S P g © rgrreereis
< ad et . { ° °
o ° LA
0 ) °
0123456 7 8 9101112131
sampling site
e y = -0.0328x2 + 0.5114x + 6.5161
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y =-0.1968x2 + 2.9937x - 3.8406

R?=0.3071; P <0.05

20 -
°
15 - °
10 -
...... ®...........
4 e e e
5 ° . o
0l %000 ¢ '9é.y
1 2 3 456 7 8 91011121314
5
sampling site
) y =0.0175x2 - 0.1137x + 2.0236
Ca available R2=0.196
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y =-0.0714x2 + 1.1708x - 1.7451
Carbonates R2=0.2276
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